X2 x2 extended
Ox2=0 Ox20=0
I1x2=2 1x20=20
2x2=4 2 x 20 =40
3x2=6 3 x20=60
4x2=8 4 x 20 =80
bx2=10 5 x 20 =100
6x2=12 6 x 20 =120
/7x2=14 7 x 20 =140
8x2=16 8 x 20 = 160
9x2=18 9 x 20 =180
10x2=20 10 x 20 = 200




x2 Activity

6x2-= 4 lots of 2 =
2 groups of 8 = 5x2=

5 multiplied by 2 = 10 sets of 2 =
2 times 4 = 2 twos =

2 X =18 Ox2:=

3 groups of 2 =

Find the product of 6 and 2 =

Multiply 1 by 2 =

2 times 7

2 sevens =

9 groups of 2 =

Find the product of 2 and 10 =

2 multiplied by 8 =

Double 2 =

x2=6




